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=23t
CHel: Al nSHER2Y (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
A QI 2 3HHE 2,345,398 1,987,047 358,351
= 162,750
J| 87,000
< 18,750
Al 2,076,898
A W E2E 1,935,607 1,551,089 384,518
MalnstE2d 503,300 348,750 154,550
TP W 334,950 245,480 89,470
201 Let24dH] 325,230 234,000 91,230
01 At 22/l 325,230 234,000 91,230
O1 gt=2Hl 600
>80 M 150, 000 & 4 0K 600
O3 2d=¢ 324,630
DAMEE HARIEE BFAH
70,0003 *321+33] 630
D=2k A=
70,0003 «60 2t = *383] 27| 319,200
D> OL2LCIDl HZ A ZA==E
2,400,000& »23| 4,800
202 O4dl 2,400 2,400 0
01 = LH 4 Hi 2,400 2,400 0
OF2t ISHM PHET U 24
1,200,000& »23] 2,400
206 M= Hl 4,720 5,280 A 560
01 M= 4l 4,720 5,280 A 560
O=F2tegt nEM =l 100,000 4010t = 4,000
Ol ZEZMA 707 A0S 60,0008 122 720
405 XtAtHE SHI 2,600 3,800 A1,200
01 AR EZFH S 2,600 3,800 A 1,200
OTV(502& Of&tal) 1,000,000& = 1CH 1,000
O&SHAI| (224 400, 0003 = 1CH 400
OEZEI1(Z4) 50,000& = 10CH 500
OHEID(MLHE YotE THE E2E)
700,000& = 1CH 700
OF2ter W= 107,400 55,020 52,380
201 £B-2dH| 106,600 54,000 52,600
01 At 22l 106,600 54,000 52,600
O1 Let==ZH| 200
D& +=0 XA 50,0003 =4 0H 200
O3 2d=¢ 106,400
D> Op2tgt ZAb=g
70,000& *202t 5 *383| *27| 106,400




SM: ARI2EM
HE: WA D

= _ — d =
SN FE - EA(SA) - MRAY - BES e 2
202 o4dl 800 1,020 A 220
01 = LH o4 1l 800 1,020 A 220
OOF2tEH UM QHES U 29
400,000& 2 & 800
SUHSRYSwA 7,200 10,400 A 3,200
201 ¢er24] 7,000 10,000 A 3,000
01 At 2t 2l 7,000 10,000 A 3,000
O3 2g8=¢ 7,000
>BEUS getna AAY
70,000& x101t = *102] 7,000
202 044l 200 400 A 200
01 SLHOYI 200 400 A 200
OBUS wana +24 22 ¥ 29
200,000 »1& 200
MU AtSlel Al 10,950 10,950 0
201 -4l 10,750 10,750 0
01 At 22l 10,750 10,750 0
O1 det=2Hl 250
>0 H& 50, 000& =50H 250
O3 2g8=¢ 10,500
D>AMUWII Atz mal ZAt=E
70,000 x102t = +153] 10,500
202 44l 200 200 0
01 SLHOIYI 200 200 0
OMUWII Atglolns 28 & 2
200,000 = 1& 200
A s 42,800 26,900 15,900
201 Let24E] 37,800 21,900 15,900
01 At 22l 37,800 21,900 15,900
O1 get=ZHl 200
D=9 H& 50,000 & =4 0H 200
O3 2g8=¢ 33,600
DAHOE ZAt=E 70,0003 *152t =+323] 33,600
06 gxt= 4,000
DAHEH Ofe UHEH LU= (RUEX,
s&8,2%4 5) 4,000,000 * 14 4,000
202 044l 600 600 0
01 SLHOYI 600 600 0
OMHIIE +2M PHES U 29
300,000& »2& 600
206 M= Hl 1,500 1,500 0




SM: ARI2EM
HE: WA D

23t
e AlglnEsUE2H (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 X2 b 1,500 1,500 0
O&AH=HM NSt 100,000& x152t = 1,500
301 et A= 2,900 2,900 0
10 HAFAHI B A2 2,900 2,900 0
OAHEM &AF ¥ 2 EIAH B4
2,900,000 14l 2,900
AEBMAS L 2ESG OHF 2,800 2,800 0
SAIS YIS AHS HEAFS] 2,800 2,800 0
202 04d| 400 400 0
01 2L bl 400 400 0
OXENASG, &HF S RFAAH|
400,000 1€ 400
206 M = dl 2,400 2,400 0
01 X2 bl 2,400 2,400 0
O HEXMAIG - LES S HEH|
150,000 x 16U =2+ 13| 2,400
WEANEESEs L HY| 1,429,507 1,199,539 229,968
HAAE KA 22 1,429,507 1,199,539 229,968
201 LBt 892,327 819,394 72,933
01 AP 22| H| 103,512 103,312 200
O1 det=2H| 55,112
DARES & A2E 2¢ 137,000& x12& 1,644
>eEAM FRRY UL A
10,000 x5l » 12& 600
DMYD M 25 22(1004 )
167, 700& x12& 2,013
DMYD ESH 25 22 (508 )
64,000& x12& 768
SI&AA HAZE 2 676,000 x12& 8,112
BEA 2HS PY(ALRHUEH)
27,000& ~12& 324
DetEA SHIS R (XISHADE)
9,000 x12& 108
D& ASH P21(204 ) 31,000& ~12& 372
Dol&A AFHHES 2 87,000& x12& 1,044
DARHIIE NEH 2 783,000& x12& 9,396
DEAEX L HEES PU(HLU2SHME)
997,000 x12& 11,964
DEEX L HEES R (KISHADL)
30,000 *12& 360
DEARAU(HAS M|, AL Sl
67,000& x12& 804




M AB2EAH
M HMAS LS
S DSALHS 2 B (29l & 2)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
DAIIEMI A tM R G 2 A
8,252,710& 12 8,253
D2 HIIetE A A 150,000& 12| »40H 600
DOtA FIIZ A 450,000& » 14! 450
DOtA FD 2aHEZ 1,500,000 * 14 1,500
DAAMUAII BAME(EL)
100,000& »3CH 300
DOUSO0IEAE S22 58
1,500, 000& =13l 1,500
DAagtAlE SEEHLY BE=
5,000,000& 13l 5,000
O2 AW =HI 400
Dgtstetel it etd2te] ws 150,000 «1¢Q! 150
DUSOISAE 22¥AL wF
22 5008 +20! 45
PORAANBAY SHHRRAT D]
50,000& »29! 100
DAAMUAID AR WS 80,000& »1¢! 80
s et 2|t WF 25,000& =12l 25
O3 2g8=¢€ 48,000
> =2 50,0003 x201 480 48,000
02 2324l 788,815 716,082
O1 22232 2 HA 359,747
DEILS(HL2stHEH)
20,000,000& »12& 240,000
D> &EII23 (XG4} 6,240,000 122 74,880
DOUADAMS(NUXEY L) &&=z
974,500& =128 11,694
>AGAERS(ALSHIEH)
2,162,000 122 25,944
D AoteE 22 (XI5HAD 92,000& 12 1,104
DEA BZNE 2E3 1,500, 000& 23! 3,000
DEAN NSRY FES
350& x17,398m x0.82%0.5 2,497
DOFAALLD BHAMY EFHE 150,000 14 150
DYTHA CIHUY A= 19,000& »12& 228
D> gtstetel it &g 50,000& = 1¢! 50
DO X JIsel A3 100, 000& 12! 100
D &It 2te| Xt 3] 100, 000& 12! 100
O2 ¢ =l 228,977
DEAINA @3 (HEE Bd)
9973 «60NM «4 Al 2t x30H 72 51,685
DEAIJIA @I (Hes W24I] 400RT)
9973 «90NM’ «G Al 2F*3CH 72 116,291
DEAJIA @I (HWehs W24I] 400RT)
6543 «120NM’ «G Al 2F*3CH 42 59,331




M NS EUE
M HMAS WSS
el NALEE F FHU] (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
DHAZMEIZE B3R 1,806& x500£ *12] 903
DEARUIIA G2 AUHER
1,3313 x8Al 2+ 10«72 767
O3 A& &l Xl 200,091
DA, S, At AH el
246,474,000 *8%* 1. 1 21,690
DO, SE A& el
138,744,000 =8%*1. 1 12,210
DASHHAH SXE=  2,000,000& 122 24,000
> =Xt2tH 2el 303,760,000 =8%*1. 1 26,731
D& sz 137,520,000 =8%*1. 1 12,102
DERJAIIIM2(ELe], d24I] 230H)
3,000,000 =6 CH 18,000
DSZAE =EBA AISIHA L ZAM
80,0002 » 10 & 80
DEA AUHM2UCIE EA
530,000& *11& 5,830
D2 otz 89 150,000 #40H 128 7,200
DEAMN YHAS 1,823,000& *63l 10,938
DYW2AE HA 500,000& *23] 1,000
DESE Ha 18,000& *350& 6,300
DSkl EA 600,000& *43] 2,400
> = & Xl (50KVA) 12,000, 000& 14 12,000
> = & Xl (80KVA) 32,400,000 » 14! 32,400
DESX 228 (3,300002 H=EFHIE)
350,000& x12& 4,200
DMasX BAE 4,300& *350= *23] 3,010
202 Odl 2,880 2,880 0
01 = LH 4 1 2,880 2,880 0
OF AL Rl 2tel 240,000& 128 2,880
206 M= Hl 22,000 22,000 0
01 M= bl 22,000 22,000 0
OdJI & SATM 5,000,000& =14 5,000
OJIAH & 848l KX 5,000,000 » 14! 5,000
OgstEs +2 ¥ uA 2,000,000& =14 2,000
Odugrdd SXacl A 5,000,000 14 5,000
O3xJ |A&el MHM(Zet=0t 5)
5,000,000 » 14! 5,000
307 2Iz2t0l & 290,000 265,265 24,735
05 RIZHRI &t 3 290,000 265,265 24,735
OFEAN B3AEH 22,500,000 x12& 270,000
Oz ddl(dRel i)
10,000, 000& »23] 20,000




M AB2EAH
M HMAS LS
S RRALHE L Ty (er:@e)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
401 A& HIZ 201 I 221,800 80,000 141,800
01 A& HI 221,800 80,000 141,800
OBM SXE=S 60,000
DHASAE SANE+ 20,000,000 =14 20,000
D EHIANE S+ 10,000, 0003 * 1Al 10,000
DEIANE SN2+ 10,000, 000& 14! 10,000
DAL SAUEB+ 10,000, 000 * 1Al 10,000
DAYAE RAE+ 10,000, 000& * 14 10,000
OulUHXl 2e| HEHS FOHEX
118,800,000& 14 118,800
OJIHA 3I=22EE S0AE £X
25,000,000& =14 25,000
OsXEA & 8=, &I 0I8&X
8,000,000& =14 8,000
O78 SELALY AlZ &= 10,000,0003 » 14! 10,000
405 RHoHE S HI 500 10,000 29,500
01 AL EZFH S 500 10,000 A 9,500
OS2 A I 21 (18S4)) 500,000 = 1CH 500
HEd=REsH 343,500 368, 101 A 24,601
= 162,750
J| 87,000
= 18,750
Al 75,000
ZHEHEWY HYXA 343,500 368, 101 A 24,601
= 162,750
J| 87,000
< 18,750
Al 75,000
OHEMZLIIN(HLINER) 253,500 280, 101 226,601
= 162,750
< 18,150
Al 72,600
101 @14l 90,000 90,000 0
= 45,000
< 9,000
Al 36,000
04 J12ZtHZ22HEE = 90,000 90,000 0
OFSEAH A 21 2AHI 1,500,000& 501 x12& 90,000
= 45,000
= 9,000
Al 36,000
201 €24 36,600 65,600 229,000
= 18,300
< 3,660
Al 14,640
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3,000, 000& =40¢!

= W

120,000
120,000

96,000
4,800

19

,200

120,000

HEMEELoI(REL-S)

75
75
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73,000
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43
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42,480

1,200

1,820,000& 221+ 12&
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el

= _ — d =
E - G2 (3H) - NRAY - BES e HlDE2
> e 208 29
90,000& 102! «223] 19,800
J| 19,800
301 Lt &t 11,520 12,920 A 1,400
J| 11,520
10 A& I 11,520 12,920 A 1,400
OFSi= g EObAH Chaotgl
25,0003 102! «223] 5,500
J| 5,500
ogsa g ==X AL= 22|l
4,000,000& 1Al 4,000
J| 4,000
OF g X WA 0yl
1,010, 000& 29! 2,020
J| 2,020
HEMz Lot (ZE01R1014) 15,000 15,000 0
J| 12,000
< 600
Al 2,400
307 glz2tol & 15,000 15,000 0
J| 12,000
< 600
Al 2,400
02 QIZtFAE X 15,000 15,000 0
OZE0IQHLAEXIAS 500,000 50! «6 15,000
J| 12,000
< 600
Al 2,400
HYR2FZH (AR 66,291 67,857 A 1,566
A2 3| 38,107 36,317 1,790
A2 38,107 36,317 1,790
101 124 dl 38,107 36,317 1,790
01 2= 27,971 26,658 1,313
OAlIZt2 2 8,4763 x1121%300A| 2t 27,971
02 JIEtA L 10,136 9,659 477
OAIZH2 8,446 *421x300Al 2t 10,136
2l 28,184 31,540 N 3,356
=2l 28,184 31,540 N 3,356
201 £er2dg 20,064 22,800 A2,736
01 At 22l 15,504 18,240 A2,736
O1 Let==Z | 8,376
DEMASE =24l 5,316,000 14! 5,316
DA EH - EH 300, 000& *3H *23] 1,800




M AlBI234H
H: HER2IGU(AUSSHAEE)
chelr D123l (&)
SN HH-S(BN) - MBAY - B Ol &k o8 as= Hm=2
= = = 0l & o8 S
> Ot |2 =2 300& *4,200A4 1,260
= 3,528
> OF 2t 22 7,000 #1421 33| x 128 3,528
O6 Y xt 3,600
DA AXE 50,000 «6CH x12& 3,600
02 =224l 4,560 4,560 0
O1 3322 2 AMA 720
DREES L4523 30,000& x12& 360
Dolorg Aeulsd 018R3(158)
30,000& x12& 360
O3 A€ &l |Xdl 3,840
DIOAAI 2F AMAE S+
220,000& 128 2,640
D> 2 ot0l S 9O (MPower Plus) SXIE =
100,000 »12& 1,200
202 04l 4,520 5,300 AT780
01 = LH YI 4,520 5,300 AT780
= &4 Of i 4,520,000 * 14! 4,520
203 = 3,600 3,440 160
02 &t E=p N 600 440 160
& Sl 40,000& x15¢! 600
04 2N2 S Na] 3,000 3,000 0
A =&l 250,000& 12& 3,000




